Depth (m)

Scale:
1:200

MMRWP DEP%: Wall Loss IDMMP IDnC1
(mm) (%] (%] (mm) (mm)
0.2 20 |156.6 170 1 81 121
IDAAEP IDnZ2
(mm] (mm)
156.6 170 | 80.0 120.0
IDAVP IDMC3
(mm) (mm)
156.0 170 | 79.0 118.0
IDC4
(mmj
78.1 118.1
IDMC5
(mmj
771 117.1
IDCH
(mmj
76,1 116.1
IDCT
(mm)
75.1 113.1
IDCa
(mm)
74,2 114.2
DS
(mm)
3.2 113.2
IDC10
(mm)
722 112.2
IDC11
(mm)
71.2 111.2
IDC12
(mm]
70.3 110.3
IDC13
(mm]
£49.3 106.3
IDC14
(mm)
£8.3 108.3
IDC15
(mm)
B7.3 107.3
IDC16
(mm)
B6.4 106.4
IDC17
(mm)
£5.4 105.4
IDC18
(mm)
4.4 104.4
IDC19
(mmj
£3.4 103.4
D20
(mmj
62.5 102,53
IDC21
(mmj
61.5 101.53
D22
(mm)
60.5 100.3
IDC23
(mm)
9.5 99.5
IDC24
(mm)
38.6 98.6




- N =L

s v Sore S

(mm)

7.6 97.6
IDC26
(mm)

56,6 96.6
D27
(mm)

35.6 95.6
IDC28
(mm)

3.7 94.7
IDC29
(mm)

3.7 93.7
IDC30
(mm)

2.7 92.7
IDC31
(mm)

51.7 9.7
IDC32
(mm)

50.8 90.8
IDC33
{(mm)

44,8 20.8
IDC34
{(mm)

43.8 28.8
IDC35
(mm)

47.8 a7.8
IDC36
(mm)

46,9 26.9
IDC37
(mm)

45,9 85.9
138
(mm]

44,9 24.9
I35
(mm)

43,9 23.9
D40
(mm] 0 Radial Map 10

43.0 33.0 _
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